The paper had three sections(I am not sure about the names of the sections, but the times are correct, trust me!)
Verbal ability 25 qs 20 mts

Mental ability 25 qs 30 mts                     

Aptitude 20 qs 20 mts
If you just want to go thru the questions, just look at ‘(’ 
The first section had basic English qs like use of prepositions, articles and two passages (both windows related):
(The first one was about RAM, and how Windows assigns a bit of RAM to each process and what happens in the case of multi-processing and all that.
(The second one was about DLL (Dynamic Linked Library) files and how they get an operation done. 
These passages were followed by a set of questions which were simple if you carefully read the passage. My advice is that you better read the passages first clearly and only then start to answer the questions that follow. If you try to jump off in the middle to answer, you’ll only end up confused(because the choices given are such). That wraps up this section.

The second section mainly had questions involving union and intersection, for example: 

(There are 2500 people in a club.  800 were drinkers, 1250 were smokers and 400 were both 

drinkers and smokers. The number of teetotalers?

There was not much variation from question to question; I mean all were more or less of the same pattern. 

And there were cube-based problems:

(A child was given to paint a cube with the following conditions:

White should face down.
Black and blue should be on the opposite faces.
Golden should be up.
..and some more like this. This was followed by a set of questions which were simple and direct.

The second one was a toughie.

(The cube again, with some conditions for colours. It is cut into two halves parallel to the black faced plane. The first half is cut into 4 equal cubes. And the second part into 32 equal cubes.
The questions were:

Number of cubes with at least one face coloured.

Number of cubes with no face coloured.

Number of cubes which have green on one of their faces.

And some more(this was the last question in the section so I couldn’t get to all).

And finally, the last section. It was a bit easy, comparitively.

It started off with 8 qs of the same type:
(Three set of words(or numbers) are given. If the first and second are exactly same opt for choice 1, if second and third are same, 2, and if first and third, choice3 and if none are same, then choice 4.

amarakbaraliKhan              amarakhbaraliKhan              amarakbaraliKhan 

The answer here would be choice 3(All the choices were 3, by the way).
And then there were these set of questions(till the end, I think):

(Some qualification and conditions were given for a particular job( a bank job):

1. Age should be 25 or less as on Nov1, 2003

2. Should have passed X and XII with 60%.

3. Should have had Economics as a subject in 12th.

4. Should be fit physically.

If the candidate doesn’t satisfy the 2 norm, he should take a aptitude test.

And some more(not in this order)

And the questions were : Raj passed X and XII with distinction and has ecomics as a subject.

Choices: a. He can be selected.

               b. He has to write the test.

               c. He will get rejected. 

There were 3(?) more questions of this sort.

That wraps up the test. Phew!!! And if you did read till here, do let me know if this helped you in any way. I’d glad to know (  
